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COMMERCE
(Regular)

Paper : COM-RC-2016
(Business Laws)
Full Marks : 80
Time : Three hours

.- The figures in the margin indicate
Jull marks for the questions.
Answer either in English or in Assamese.

1. Choose the correct options from the
following : 1x5=5

fReale RIPIER R 9% e aifk Seved ¢

(A) '(a) Which of the following agreements
is an executory contract ?

ftae @A ITHRS FTITES §fe
e ~ifke

(i) Sale contract to sell future
goods

T R R IR vk
Contd.



(i) Sale contract for goods
w3y R pfe

(ii)) Sale contract for services

R R pfe

(iv) Hire purchase agreement

¢l FH IAWIS

(b) Who among the following appoints
~a sub-agent?

fee @iRes SoefeR feet s
(i) Principal
T I
(i) Agent
afeffa
(iij) Both (i) and (ii)
(i) I (i) TRADR
(iv) Third Person
oo T
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(c) The Sale of Goods Act, 1930 came
into force on

7 RiE Wiz, svvo o9 e TR
(i) 1st May, 1930
S (¥, Sd90
(i) 1st June, 1930
> GH, %0
(i) 1st July, 1930
S GEIR, S50
(iv) 1st April, 1930
> @fgiE, sovo

(d) Registration of partnership firm

is
TR D AGER T
(i) optional '
ELaticy
(i) compulsory
AGOLETS
(i) Both (i) and (i)
(i) SF (i) TR
(iv) None of the above

@Y oIS AW
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(e) Who appoints the Central
Information Commissioner ?

(FER O PSS @I W Ao

() The Prime Minister of India
OIST YA

(i) The President of India
OISR APoIfS

(iii) The Chief Justice of the
Supreme Court

(iv) None of the above
SO GEI TZH

(B) State whether the following statements
are correct or incorrect : 1x5=5

were frm Refoonz wa @ wom i 8

() The Indian Contract Act came into
effect from 1st September, 1872.

SITOR & Wi, Sras T > GrEENR
/19! FRe 2 |

(i) A deposit money in a bank is not
a bailment.

Bt RS Tl A @ i R Wz
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(iii) Oral contracts are always invalid.

GTiRRT §fe T witay |

(iv) A promissory note can be crossed.

G SRS of @I IRI AR

(v) A minor cannot be an agent.
T AR Al ”W @RI

2. Answer the following questions in brief :
2x5=10

fesre emprR o Be fra ¢
(@) What is contract ?

e e

(b) Define the term ‘goods’.
‘T3 A

(c) Who can cross a cheque ?
I (BF (T IR A2

(d) What is bailment ?
& pfes e

(e) State the objectives of the Right to
Information Act.

o SfEPIR W] Sy o |
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3. Answer any four of the following questions :

5x4=20

fNIe SPT] Reeic bifRor9 ©es fuat ¢

(a)

(b)

(d)

(e)

Explain the duties of bailee.
oy T&RPER I 60

Is a minor competent to enter into a
contract ? Justify your answer.

AR 9T S IR AR @5 & = S 2
(OINIY TR e & SR |

What are the essential elements of a
contract of sale of goods?

7 R pfes s Sotmengg & e

State the differences between bill of
exchange and promissory note.

AT ofw oi% ofSuS sfag shdepz o

Write the circumstances under which
a banker can dishonour a cheque.

& B AR QIR 6F 9 TN IR
AR ?

Define a “public authority’ under the
RTI Act, 2005.

R00¢ H] © HEFY Wiz SO ‘qrorl
Feorw'Y wicet fuwl |
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4. Answer any four of the following questions :

10x4=40

ﬁkawﬁemwmgaiaéﬁﬁﬂs#ﬁWa e A

(@)

(b)

(c)

(d)

“All contracts are agreement, but all
agreements are not contracts.”
Discuss the statement in the light of
essentials of a contract.

“Wieeel pfee Iewike PR AR, 8 e
RARBR e 7=

pfeq SRR SAmITEE erEre I RS
ol 9|

What is breach of contract ? State the
remedies available to the aggrieved
party in case of breach of contract.

2+8=10
Pl W [ 2 pfesr crae wfoas A
IR & & AT ol T 41

What is contract of agency ? Explain

the essentials of a contract of agency.
2+8=10

G 5 e @Bl U pfET SR
TomTRR I 4|

Discuss the right of an unpaid seller
against the buyer personally.
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& SeRefEe Reroiz creir Res are 1
&S SFFITPTR A 3947 |

(e) State the rights and duties of a partner
under the Indian Partnership Act, 1932,

SRR SRR T3, 35903 I HATS FHNT
SRFI SF AT WA 3#4 |

() Who is a Public Information Officer ?
What are the duties of Public

Information Officer? 2+8=10
IR oY REa @i e ol oy R
VR A A |

(g) Discuss the procedure of incorporation
of limited liability partnership firm.

e @GR SR ARV RorasT
ARS AL 39T |

(h) What is contract of guarantee ? State
the essentials of a valid guarantee. Also
state the situations under which a

contract of guarantee is invalid.
2+8=10

wifte pfs Rre @51 tay Wit SRR
TAMIFPTR B ¥4 | OifiE e Sitay @R

Rfen ~ffEfemz S =11
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